Multiplicity



Did the muon hit 2 and only 2 cells?
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Calculated Theta (Clean Hits Only)

Count

400

300

200

100

Entries
Mean
RMS

9236
526.9
0.3747

IlllIIIII|IIII|IIIIIIIIIII|I

IS B = l R e B | l OST Es E= l I B

l"‘!--‘l’\-f‘l-r"u..—

llllllllllllllllllllllll]lll

P DO == l Ll ol
825 525.5 526 526.5 527 527.5 528 528.5

~529

Theta (milliradians)



Calculated Theta (Clean & Dirty)
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(Calculated Theta
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Projections



Projection at x=125m from detectors
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74000

Projection at x=125m from detectors
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74000 Projection x=125m from detectors
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